S SY-35

SECOND YEAR HIGHER SECONDARY EXAMINATION, MARCH 2022

Part — II1 Time : 2% Hours
ECONOMICS Cool-off time : 15 Minutes

Maximum : 80 Scores

General Instructions to Candidates :

There is a ‘Cool-off time’ of 15 minutes in addition to the writing time.

Use the ‘Cool-off time’ to get familiar with questions and to plan your answers.
Read questions carefully before answering.

Read the instructions carefully.

Calculations, figurésand graphs should be shown in the answer sheet itself.
Malayalam version ¢f the questiofis 1s also‘provided.

Give equations wherever necessary.

Electronic devices éxeeptimon-programmable calculators are not allowed in the
Examination Hall.
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PART -1

A. Answer any 4 questions from 1 to 6. Each carries 1 score. 4x1=4)
1.  The book ‘General Theory of Employment, Interest and Money’ was written by

(a) Adam Smith (b) Alfred Marshall

(c) J.M. Keynes (d) David Ricardo

2. Profit is the difference between
(a) Total Revenue and Total Cost
(b) Total Revenue and Total Variable Cost
(c) Total Revenue and Total Fixed Cost
(d) Marginal Revenue and Marginal Cost

3. At the Break-even-point, the firm faces
(a)  Super normal profit (b) Normal profit
(c) Abnormal profit (d) Loss

4.  The want satisfying capacity of a commodity is knownras
(a) Demand (b) Supply
(c) Utility (d) Elasticity of demand

5. Which one of the following is a Stock Variable ?
(a) Wealth (b) Income

(c) Investment (d) GDP

6.  Which of the following is included in the current account of balance of payment

(BoP) ?
(a) External borrowing (b) Purchase of assets
(c) Foreign Direct Investment (d) Trade in goods
B. Answer all questions from 7 to 10. Each carries 1 score. 4x1=4)

7. The market with a few sellers is known as :

(a) Perfect competition (b) Oligopoly
(c) Monopolistic competition (d) Monopoly
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PART -1

A, 1 m@a8 6 100 ¢alo3yBElad ago®@@lee 4 afINOVIM DOMOOAY) ).
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8.  The price elasticity of the following demand curve is

3 D

>

Y 4 Quantity
(a) eP>1 (b) eP<1
(c) eP=« (d eP=0

9.  Inaperfectly competitive market with free entry and exit, the equilibrium price is
(a) equal to min AC (b) greater than AC
(c) lessthan AC (d) equal to min MC

10. The ratio of nominal GDP-toteal GDP is

(a) Consumer Price‘Tndex (b)», Wholesale Price Index
(c) GDP Deflator (d)/  Producer Price Index
PART:~11
A. Answer any 3 questions from 11 to 15. Each carries 2 scores. B x2=06)

11.  Write two examples for substitute goods and complementary goods.

12. Distinguish between short-run and long-run in the production process.

13.  What do you mean by market equilibrium ?

14. Elucidate intermediate goods with example.

15. Write the appropriate economic term for the following :

(a) The rate of change of consumption as income changes.

(b) The rate of change of saving as income changes.
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8.  ®06% M@HDAlE9)aM €aloBM QlGHOBIO aflel neldaile®
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(a) eP>1 (b) eP<1
(c) eP=« (d eP=0

9.  @RYWAM Madldnam MPGOMMIMBS )N ACTVO GHEMOSOTIG3 TLIMEI®
afler

(a) almlac AC o) @)e1noldlenoe
(b) AC coa9nIud 3)S)®eIRdlono

() AC coa9oud 3)00106len)0

(d) almlac MC @) @)elymidlenie

10.  alemomad (nominal) ~GPP @) ®@m0odon (real) GDP @p oomilenss
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(a) 9alcEIsmONEI V) lB (b) | emo@llel ruyails

(c) GDP alfleagq® (d)" 28)98s ailel qv)aile

PART, - 11
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12. 920/08M (IGIQDI@ (OAV]  HOeIesalp  El3Pel HORIVSAN  af)HADAN
QIR @16)2,| L))

13, &cMI08 MVo@ENGOQITLN af)IN@) HBIMNMEAMORNISNINODEIAD ?
14.  gns alel 9ejanemnyd (intermediate 2oods) HBIAOOEM MLACI®o AIYBDAONN .

15.  ®069 MBI GRMIEWILINOW TLIMICHE alBo af)FI®) :

(a) QIEROMODIE 20QAPNEIBHIEMIOB  DalCRINABIT3  AOGMMEOB)IMN@IOH
Woss.

(b) mq(ogmoummkﬂ 20QMENBOMDHIEMIOUD  ALMUOBYOTIE3  AOGAEBIDH)IMN®NHAZ
Moo,
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B. Answer any 2 questions from 16 to 18. Each carries 2 scores. 2x2=4)
16. List the major sectors in an economy according to the macro economic point of view.
17. When price of Apple increased by 20 percent, the quantity supplied of Apple
increased by 30 percent. Calculate the price elasticity of supply.
18. Mention two motives behind the demand for money.
PART - 111
A. Answer any 3 questions from 19 to 23. Each carries 4 scores. B x4=12)
19. Distinguish between centrally planned economy and market economy.
20. What are the main functions of money ?
21. (a) List the characteristics of monopoly market. 2)
(b) Draw the average revenue and marginal revenue curves of the monopoly
market. (2)
22. Equilibrium output and aggregaté demandrare detérmined in the following diagram :
(a) Identify the components.ef Aggregate.Denand: 2)
(b)  Show the changes if the equilibriufn when @autonerdeus expenditure increases.  (2)
AD
E N o
ADfF-——-= N\
A :
1
45° |
0) y Output
23. Explain the objectives of government budget.
B. Answer any 1 question from 24 to 25. Carries 4 scores. (1x4=4)
24. (a) Draw Marginal Product Curve and Average Product Curve in a single diagram.  (2)
(b) Identify any two relationship between them. ?2)
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B. 16 m)®@3 18 100 ¢a103yBEla8 ago®sslene 2 af)anamld 2OmOOAY®)d:.
2 capod afl@o. 2x2=4)
16. aunel  qLOMITIIG  »0YalaloSI@3, @) aLMIG  AIITVOYIeE! (A IWIM
CARILIHEBO®IONGNOQAN LAY §a 1))
17.  @maflgload aller 20 vomaomo al@eUla]ea|owd @@INM (@130Me 30 vo®mA0Mo
aIdeUla). (IBomomIed aller HLAUIB® GHaMENIBN)D .
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PART - 111
A, 19 0y®@3 23 a0 Ga1d3ieBslad ageomaslen. 3 ag)agp)m"lm' DOINO ALY,
4 capod afl®o. Bx4=12)
19.  ea(@ldi® @RILY®EM ALMUBG AIRITLOW)o GHEMIIBAVLMUB AILAITVOW]o af)HANAT
QRN @16)2,| L))
20.  aleMODIO (IWIM WAMEBUB aBQl ?
21, (a) SO HEMIOSTTNO TVANCUH®DHUD LNAY ealQ))d:. )
(b) BB HECMUISTINOL! VDOIVE QAIEIAIM  AlAe MR  QAIEYAIM
Q1) QIOHN)D. ?2)
22, ®06% B3OSO WRWDEBITIG3 qvameil® 9ejanalp qveaile calodmale (AD)
mldemilafldlesm;. :
(@)  aveil® catosMoBle (AD) 2Liseo1ud,@Iola|dlw)s. )
(b) Lo  (aleal0dl®,  eadRIal A (Autenonious p~expenditure)  QIGRU0®@3
MLO®LN®IQINOLRENEIG)IM A0Qo WRWNDDIG3 BB . ?2)
AD
P
ADF-—--= N\
A :
I
45° |
O y ©B|Mo
23.  avBu90ad cniRglend elduieonRud allvddlecloe)d.
B. 24 2)®@8 25 2160 2103408 aBo®BlENe BHOANATIM DOMOHAH; D).
4 csq';))oca. 1x4=4)
24. (a) aJ@a®m 2e|aN Qlo, VWG DL|MM Alo of)aNIAl BCO AWRWTIHITE3
QOB D>. 2)
(b) @R ®eAIERSS ARO@ESIEIe BENE UMWY @1@la |Gl ?2)
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25. Match the following :

A B
GDPat Factor Cost GNP, ,p — Depreciation
NNPat Factor Cost GDP,,, — Depreciation
NDPat Market Price | NDP + NFIA
NNPat Market Price | GDP,,, — Net Indirect Tax

A. Answer any 3 questions from 26 to 29. Each carries 6 scores.

26. (a) Complete the short-run costs table.

PART -1V

Output | TFC | TVC | TC SAC | SMC
0 20 0 - —
1 20 20
2 20 30
3 20 34
4 20 40
5 20 60
6 20 100

(b) Draw SAC and SMC curves in a single diagram.

27. Distinguish Price Ceiling and Price Floor with the help of diagrams.

28. Differentiate the following with examples :

(a) Revenue Receipts and Capital Receipts

(b) Revenue Expenditure and Capital Expenditure

29. (a) What do you mean by Exchange Rate ?

(b) Briefly explain Flexible Exchange Rate and Fixed Exchange Rate.
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25.  Gal@)alS] Gal@He)d :

A

B

&l.al.all. epISH, Oalelal
@nslrunoma0asi (GDP.)

GNPMP — GOWAIMo

af)MB.ag)@3.all. LIS Salelal
@nRSITundma0asil (NNP-)

GDPMP — COQAIMo

GDPyp — @RQ alE00S:HUM] )0}

(3 x6=18)
3

af)MB.al.all. éemiog afleild NDP. + NFIA
(NDP,,p)
af)MB.af)B.all. HemI08 alle1]@d
(NNP,,p)
PART -1V
A 26 a)®@3 29 190 €a1034BEIG8 aBO®BILNe 3 afANOTIM DODOONY)D)D:.
6 capoad afl@o.
26. () (AOAVIBGIL! H2ILIAIBHUD GHIATIENMM alSld: al)BDTEIB:O106)H:.
oejmo | TFC 4“ITVC | TC SAC | SMC
0 20 0 & —
1 20 20
2 20 30
3 20 34
4 20 40
5 20 60
6 20 100

(b) SAC, SMC Q@603 860 WRUANTHIG3 AN

27. QD@)(U)(W»W@(@ MOV EDBININS

GQIRDND16)2,| LY.

aflel  aidldl@p @oaileiw)o

28. @96 M@HIWBHN)MAINW HBIaOEM TVaOI®o CAIRDIGI62| LMD :
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(b) 0aIMy) BaleII} MEIWM SalelQl)e

29. () alda MlEES af)iM@EE06ME GRAGLONIBN)IN®) af)aNIEM) ?

(&)

®A @3
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2

(b) @naudle (Flexible) ailmla® mlosn) audle (Fixed) allmla® mloss)o 21)0)6s)]

afllaIelee .
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B. Answer any 2 questions from 30 to 32. Each carries 6 scores. 2x6=12)

30. Explain the monetary policy tools of RBI to control money supply in the Indian

Economy.
31. (a) Compare Open Economy and Closed Economy. ?2)
(b) Explain the three ways in which an economy interact with rest of the world. “4)

32.  Observe the following diagram :

0 1 I I 1 1 I
1 2 3 445 X1

Draw the changes in budgetlinéwhen

(a) Income increased from I 50 to I'70. A3)

(b)  Price of X decreased from® 10 t0,35. A3)

PART -V

Answer any 2 questions from 33 to 35. Each carries 8 scores. 2x8=16)
33. (a) What are the features of indifference curve ? A3)

(b) Diagrammatically explain the optimal choice of the consumer. Q)]
34. (a) Identify the three methods of measuring National Income. A3)

(b) Explain any two methods of measuring National Income. S)
35. (a) What are the features of a perfect competitive market. A3)

(b) Diagrammatically explain the profit maximisation conditions of perfect

competitive firm in the short-run. )
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B. 30 2y@@3 32 100 ¢anaimndled agomsslene 2 afan@amlmn’ 2omOeaY)®)d:.
6 capoad afl@o. 2x6=12)

30.  @amyBd avmIE” AlINNEIeR! aleM@TOM (130N Ml ETlea)M@IMow] RBI
DalGRIUHNIN aleMM® DaldUWld:ud AllaIGlee)d:.

3. (a) @O quMUE AIAITUO)o GRSEITIN TLMUB AILAITLOWIo MIOMAo MalYd.  (2)
(b) & aumus’  alyaIaTun aQ  CRIGILVMUE  QIJOITLOGSB)A0W]

MITWESIM@IMES 2N 20BYEBUB alldEldEl9). “

32. @06 M@BBHIBlE9)M W(Wo MIGlEHlH0)0 :

X
1 2 3 4G5 1
@069 M@3H1VBlae)aM fRiRg e LITHLl AQEBID WRUNOTIGE GO |S)OTND.
(a) QE@IMo 50 ©)aI1l@3 Ailan)o 70 @)ed®@0Whai@RUlHe)M). A3
(b) X, oad ailer 10 0)ai@fl@d alom)o 5,04 100 &ia@iem): 3)
PART -V
33 2y@@3 35 Q190 ¢al3iIBEIal aBo®BILNe 2 af)dNAMIM 2OMOHDYI®)d:.
8 capod afl@o. 2x8=16)
33. (a) 2r0MIm QGO VANECNHDDBUDB af) DL ? A3)
(b) WRWEDIOME TVAOIVWETMINS DalCISMINNOM @PMD)PI®  (optimal)
o®6amS)a| 0llvodldclee)d . Q)
34. (a) ¢BUI AIO)AIMo GEMENIGNMGIMSS MAN Gl@IBU8 @@l 01w A3
(b) cerUll® QIO@OIMo  BHEMENISMNMDIMBS  aGoO®BILl)o e GlGIBud
avodl el 99). )
35. (a) anden AGNE GHEMOSOTNOM TVANCNHDBHUB af) HANLI0o. A3)

(b) QD@)(U)(W»W@(@ MLAOOWEDMINS,  (AO0MV|HILIVSONE3 Mg@% QAOILO
HCNDBOTIOLR!  2|0BMVIETIG LIV  alEAdAIUWWISNINTIM)BH
aITNG0d AflvoBlealoe)d:. 5)
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